GPBO =——[]*1 — 28[]<— GPA7
GPB1 <—»[]2 27 [] <> GPAG
GPB2 =—[]3 26 [ ] =— GPAS
GPB3 <—[]4 25 < GPA4
GPB4 -—[]5 N~ 24[]=— GPA3
GPB5 -—»[|6 5 23 [] =—— GPA2
GPB6 =-—[]7 ) 22 [ ] -—» GPA1
GPB7 =—[]8 g 21[] =+— GPAO
Vss —=-[10 s 19 ]— INTB
NC ——[111 18 [ ]—» RESET
SCL —»[]12 17 [] -— A2
SDA =+—[]13 16 ] -—— A1
NC —[]14 15 ] «—— A0
Rﬁgimr Address| .7 bit 6 bit 5 bit 4 bit 3 bit 2 bit 1 pito | PORMRST
ame (hex) value
IODIRA 00 107 106 105 104 103 102 101 100 |1111 1111
IODIRB 01 107 106 105 104 103 102 101 100 [1111 1111
IPOLA 02 IP7 IP6 IP5 IP4 IP3 IP2 IP1 PO [0000 0000
IPOLB 03 IP7 IP6 IP5 IP4 IP3 P2 IP1 IPO |0000 0000
GPINTENA 04 | GPINT7 | GPINT6 | GPINT5 | GPINT4 | GPINT3 | GPINT2 | GPINT1 | GPINTO [0000 0000
GPINTENB 05 | GPINT7 | GPINT6 | GPINT5 | GPINT4 | GPINT3 | GPINT2 | GPINT1 | GPINTO [0000 0000
DEFVALA 06 DEF7 | DEF6 DEF5 | DEF4 DEF3 | DEF2 | DEF1 DEFO |0000 0000
DEFVALB 07 DEF7 | DEF6 | DEF5 | DEF4 | DEF3 | DEF2 | DEF1 DEFO |0000 0000
INTCONA 08 I0C7 I0C6 I0C5 I0C4 I0C3 10C2 10C1 I0C0 [0000 0000
INTCONB 09 10C7 I0C6 I0C5 l0C4 10C3 10C2 10C1 10co |0000 0000
IOCON 0A BANK | MIRROR | SEQOP | DISSLW | HAEN ODR | INTPOL — 0000 0000
IOCON 0B BANK | MIRROR | SEQOP | DISSLW | HAEN | ODR | INTPOL — o000 0000
GPPUA 0C PU7 PU6 PU5 PU4 PU3 PU2 PU1 PUO [0000 0000
GPPUB 0D PU7 PU6 PU5 PU4 PU3 PU2 PU1 PUO [0000 0000
INTFA OE INT7 INT6 INT5 INT4 INT3 INT2 INTA INTO |0000 0000
INTEB OF INT7 INT6 INT5 INT4 INT3 INT2 INT1 INTO [0000 0000
INTCAPA 10 ICP7 ICP6 ICP5 ICP4 ICP3 ICP2 ICP1 ICPO  |0000 0000
INTCAPB 11 ICP7 ICP6 ICP5 ICP4 ICP3 ICP2 ICP1 ICPO  [0000 0000
GPIOA 12 GP7 GP6 GP5 GP4 GP3 GP2 GP1 GPO |0000 0000
GPIOB 13 GP7 GP6 GP5 GP4 GP3 GP2 GP1 GP0 [0000 0000
OLATA 14 oL7 oL6 oL5 oL4 oL3 oL2 oL1 OL0 [0000 0000
OLATB 15 oL7 oL6 oL5 oL4 oL3 oL2 oL1 OLO [0000 0000




